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FINAL EXAMINATION - 2006

DURATION — THREE HOURS

CERTIFICATE IN INDUSTRIAL STUDIES
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DATE: 27" MARCH 2006

TIME: 0930 TO 1230 HOURS

Total number of questions' =10
Answer Question 1, which is compuisory an

Question 1

each.

Q1

Number of quéstions to be answered = 06
d additional five (5) questions.
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carries twenty five (25) marks and Question 2 to 10 carry fifteen (15) marks

“Pattern construction is one of the initial stages of the garment manufacturing_f_

process”.
State two (2) methods of constructing a pattern.

State the three stages of drafting a women's skirt block pattern.

Classify the interlinings according to the methods of application.

What are the three methods of marker making?
List four defects resulted during cutting.

State two methods used to from lock stitch.

Name three types of product :nformation given to the customer through the

labels.

List out four inspection methods which are used in a producticn line.

“The quality of a product can be divided into two major categories”, what ar

they?

“The benefits of productivity improvent is sharing among three

categories”. What are they?




Q2  a) "Body measurements for women's wear can be taken as either length
measurement or girth measurement”,

(i) What is the different between length measurement and gi.rth'
measurement? '

(if) Explain the correct method of taking following measurements from
female body (use rough skeiches if needed) and identify whether it is
girth measurement or a length measurement. ‘

1. Across chest width

2. Armhole depth (depth of the armhole)
3. Waist measurement

4. Upper arm girth

b) Name five (5) specifications that can be séen |n a drafted. Men's shirt
pattern.. .. _

Q3.  Stitch is a Unit which is used to join two or more fabric plies in the garment
industry.

(a) Define the term “stitch” according to the British standard.
(b) Explain three types of stitch classes with their Applications: -
(c) Explain the method of adjusting the bobbin thread tension of a lock stitch

machine. '

Q4  (a) Define the term “seam” according to the British standard.

(b) Explain with aid of diagrams, the methods of process when producing follow
types of seams, with Applicaion.
i. French seam
ii. Welt seam
iii. Channelseam |

Q5. (a) Expiain three different types of machine beds with their applications.
(b) Explain the following types of feeding mechanisms
i. Differential drop feed mechanism -

ii. Unison feed mechanism

Q6 (a) Explain three (3) factors that govern when selecting the interlinings.

(b) “In order to obtain the correct type of button for garment, the required button
should be clearly specified”,
Explain the specification that should be considered, when specifying the
desired type of button.




Q10.

- -{a) Explain the importance of line balancing.

(b) A Production line includes the following operations.

Operation SMV (min )
Make collar 2.55
Join shoulder 2.00

Press on front placket | 3.05
Attach front placket 2.60

Attach collar 3.40
Aftach sleeves 2.25
Sew hem 1.15
Final pressing 3.25

{(iy How many work places would be required at each operation to-make 180
garments a day? Assume standard performance & working day of 450
minutes.

(i) How many operators would be needed to staff the line.

(iii) Which operations should be amalgamated to achieve an acceptable blance?

(a) Briefly explain 4 factors which limit the height of a lay.

{b) The following.contract is to be process in the cutting room.

Size 12 14 16 18
Quantity 100 | 160 | 120 | 60

Maximum lay height is 60 plies
Maximum lay length is 4 garments marked
Determine the most economical lay plan.

(a) Explain the difference between line relationship and staff relationship
in hierarchical structure of management.
(b) Explain the two methods of performance evaluaticn in an organisation.
(a) “The total quality of a product depends on the quality of design as well as th

quality of conformance”,
Explain the above statement.

(b) Explain two methods of Inspection which are used in a produ-ction line.
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